D1vISION WITH A REMAINDER II (H - SET 2)

CHALLENGE Name:
Time: Score: A

o1 3147 +4 = 06) 26824 + 8 =
692) 9918 =+ 3 = 07 45083 =7 =
693) 13428 + 12 = 105) 3558 + 2 =
691 15099 + 4 = 19 71808 + 8 =
695 18983 + 6 = o) 911 +2 =
696) 40363 + 7 = m) 43076 =5 =
0o 1161 =1 = 12 57076 =5 =
695) 63987 + 11 = 13 53750 + 6 =
699) 4775 + 9 = 1) 5849 -1 =
10 58992 + 5 = 75100085 =+ 11 =

oy 30762 + 10 =

102 93500 = 10 =

03) 32998 =4 =

1) 129332 = 11 =

15 79084 + 12 =

Mathematics: Division - Level 8 - Horizontal - Set 2
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76913 + 8 =

6520 + 6 =

785 +5 =

16933 =6 =

80070 + 10 =
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